B 1A

118 ) 128 (5K) 13H (K) 148 (£)
k% Bad —A&EY | |#rs Baf —ANEY | |#Isa BR% —AEY | #xs BR% — A&y
ERDE E%RYE E%RYE ERYE
£ |[BEXER 59| (3 |2ty 50| £ |BEX(FHR) 60| (B [BExXER 63
BkmE B 6| [V [3uRty 60| |= |HEEXK(EE) 70 |2 |HBERER 70
A oz ErsLG x 1om) of I & [xEE EF 6| |= [tBk 9
2 [mmmst-EaL0x m 6| 'V |5 206] |&  [kuE =5 7| |E [aBx 10
D [ERESE 1| |~ Ao pyEs 9
- AN—ay (5E) 5 igEY Lo F— 2mbybk 25 ﬂ: #E 206 B 2
; E A 10 ﬂl-_, Loping 50| |# ﬂl-_. a5 0.8
M ETE 0] ™ [E& 45| |gs  [CR)EE 2omfy BEAL 50| |”
= (BT ET 5| | [EERY 25 c; 4E 1) [ [E2 206
A Al 02| [ |AZ 15 | [EE 2| |4,
y [ 1|y [®BEVAFAR 15| |5 |IRBLESK 1 |z (8P -l (2x20m) 10
A 1 +0y— 2| |- |BE 01 (4 [TARS 10
FELaYHA 05| |87 |/S+Y 07| | X% 4 o |hacs LBESHY 20
4+ |BiE 05| | |YS¥H i |1 |TARA 3| |2 |[oECAITRL 10
2 |SL&S 003| [& |BAESHE 1 it-4ail 5| |A [EVZIES 10
F (LA R—F 4| (o1 (PN 7
Yoo 4L 206| [ (B 05 |Y |E=wdY 25| |5 [CA)YEPLAIFA 6
e 5 |ZLs> 003 |F [IFLKE 55| | |SE 2
Yo WhECHHE 15| [P [FErarvs 03| |L Az 7| (2 [BOLsSw 3.5
7 [XeRy 30| [V [o=yzx 0] | X [& asesm 05| |2 [=Em 12
LEETEY) 5| [T [B 75| R [2E 25| |5 [#YA 1
, Az 5 g; EOLLS0 2 ;7; WYBCE 2
L L ESRH 2| |5 (LM FESCHHE 15 |3 =] 1.2] | —K 0.01
| LB 1|3 |[BRESE ] CEih 0.7 s 5
x [EALLSW 05 |5 |FvRY 20
| (B 01] [x [AaZe 20| | |30 20 i 5
RO[EL&S 002| |z [L®HL 10| &= [A#R 5 E5EA ShEDE2009 15
oL 4 |AE 10| [+ [FHS 5 KR 15
2 |ALHA 7| |y ($B)h—ILa—> 8 AS 5 EBAS 8
| R—av (&) 7] || Y5455 1| [k [ 5 hhE 5
7 |EE 30| |4&  [FERUaVUA 02| | |KE 5 LMzl RSAR 5
I ¥ Hub 5| |~ |BE 02| |A& |B% 5 FHZ 5
¥ 5 I1h [2L&S 0.05| |Y [hhZF 5 BHE 4
hhkE 6| [ » o [EOLsSw 1 EFL LA 4
(LM UELYAT 6 ¥ [WE)FaakzsU—L o] |7 [&& 05 7K 150
Y-S5 M 1] |#* Th A 0.5
(LR WS R—TF 4l |~ BIVET 7-LH 3
KSNESHE 1 HLER 0.5
BiE 0.3 ol 110
FEravy A 0.5
IZAl=¢ 0.5 () XE 5 Uhit 2.5
hL—# 04
HYA 0.5
EADNDY—R 2
JRA—Y—R 2
TASA 0.7
7K 120




B 1A

178 (A) 188 (K) 198 (7K) 208 (K) 218 (£)
ks % BR% —A&EY | |#Isa Bad —AN&EY | |#us BRf —ANEY | |#iIsa BR% —AEY | s BR% — A&y
ERYE ERDE E%RYE E%RYE ERYE
NI E22 AN 50| |2 |[HEX(FE) 60| (2 [ avR/SY % 30| % |[HEEXK(ER) 65| R |#E%(EH) 60
I FTT) 60| [ [HBEX(E5 70| [V [UB) 3y~ M 40| | [saaiex 03| R [BAXEH) 70
8 B lxnz =5 of |t [UmavRy -3 50f | [dEp (2 x 2mASAR) 2] =[xz E=x 6
43 206 KpE i LA SR (D= b IAYASY /M 60| |- 4= 07 | 5 KpiEx Fit 7
N KC )= DA YAS N~ 70 I2AI=X 05| [v
gi BEP et (3 X 3emR S A R) 30 ;:f[ H4ZL 206| |4 7 & 10 9): 43 206
B AVAIFAT 35 A |#ER 26| |1+ [AB JANE3
Rl [Leding 45| |& [ EE0wFHZE]| /50| (Y AL |CHTERT 5/ |~ [2B8A - KL (2 x 20m) 15
IREE: a0 I [ sEowEsEE 70| [~ [3BE9 M- L (2% 20m) 18l |, [HT¥il 05| |7 [smm #- AL (2 x2m) 10
g AT 10 g = 4 A - FEAL (2% 2cm) 12 E EOLESK 2 ll/ BBLA—FvS 4
JAS 4] 05| |% 30| |2 BiR 1 N=F: 1.3 ¥ 40
NEE= 0s| 7 [zw3y 5| [ [casa 5| B [&m ||z [Lesng 30
=z [13e= 05/ |z |AB | |&  |[GBLA— TASRAS 15| [z |[FErO2VA 05 |= |AZ 15
r<rE2—L 6] |7 |[EEbred Hvk 04| |y |xox% 15myY 20| [, |[BiE 05| [ |[hacs veesHY 15
2| k= FryT ke 3 B 25| |l |fif-taim 5| [#% A [EWLZIES 10
g/ N=F: 1.2 % mOLLSK 2.5 l):' Y 1| |2 |43 206| [~ |EBY— 5
“| [2RE—Y—R 0.7 LB 12| |V | &EE 0.8 IZAl1=< 0.5
3 FELAUYA 0.6 g CEm os| [} 1241 08 '; £0L 30 f'z HZ 05
5 Bis _ 05| |- : o DEWE _ 27| |, INAHE 25| [ |955m 1
5 ;LJ:’) 0.05 5 ﬂ(/%)f:iu{:'ti 25 = ZEF‘LJ:’)@ 25 A AS — 5 L INEW 6
A 40| |z B - AL (1 x 1em) 6| |y ;E;E 14] |y wyaIE 2| & hL—#H 1
Y 3 |EmE RE-EHEL0 x1m) 4 | [ERE 0.04| |4 |HEFHFEADY 1 |z [H35H 4
Al [BoL R L G BRsE 5/ | [ KR 15| (I 3B 4| (A [EOLLSKW 1|1 [WHHBER—TF 4
N A 25 | [BWLTIES 7 » |&iE 015 [  |[r=rrFoyT kg 2
=5y 15| |2 (A3 5 T FS5hAE 20| |2 [ 07} |Y [HzrE—V—Z 1.3
(fF)h—)La—> 5 ? LWLVl RS/LR 4 E 3HHL 20 7', f'?, EANMDY—R 1
BEE 3 jr hhaF 5 |, |ExAY 15 KL R\ L () TidRE 5 | EOLLSKW 1
B 1 EOLLSH 15 |k |IREL&IW 27| |5 |byo EEXER 20| 4 [FEYR 1
=} ] 0.7 &iE 04| |4 |BEE 22| [ | EZE 20| |5 |‘BAESHE 1
BiE 0.3 Eil 1[5 |LBE# 1|15 |[fhE 3 | |BiE 0.7
cL&S 0.02 HIYET =LA 4| |4 [HSEH 1] [V |Bybbhh(EREESE) 0.8 ZL&S 0.04
LR 1. [Z=EvEG) 1 (b [55H 0.5 FE ALY A 0.4
YAZ 50 7K 110 |2 - (LR AHR—F 4 5 80
Z (LR)>T 50 2 [2OLSO 08
I FE 20f |2 BiE 0.5 LTEEYHA 2
L |LER 15 [ [SL&S 0.03 iR 35
L |AZ 7 FEra YA 0.5 LAR 25
A2 |ZDEF(T 7 —FEih 0.2 AS 5
A (LM ASR—=F 4 5 140 (fF)h—La—> 5
D EOLLSKH 0.5 EOLLSK 25
;l{ BiE 0.4 ({E)3—4 Lk 100 Bf 18
— L&D 0.03 LB 1.2
FErasYr 0.3 YIS 0.6
b 120 _FEH 0.6




B 1A

24H (A) 25H () 26H (JK)
iE 278 (K) 288 (&)
WILE 7 — A k3 — - =
kL Bmd IED)*\/é\l: BRI % Bad AZY | | ‘iz Bad —A&Y | |#zz Bmd —AfY | [#ze Bmd —A&Y
nE EERDE EROE =

R BT ” R —— s ERHE EEDE
hy :ﬁf:ﬁiﬁ?; 28 § EET(EZ{) 60 L; (BT I A ShEDE|[#~m3 200 [V [FERK(EK) 50 B |[BEX(ER) *n?o
L B 5 f.,;*(’;'i{) 0] | = |dEwcsis sneosns 20 Yo kE B8 6] = |[BEX(EH) 70
N TEm 3 **&i Kﬁf 6 < ETS3EA EhEnE| B 300| |5 [HERYENEHBESE) 3| & [em= seu—{
> * 206 A€ R |5 |BE_tbeEEL@x1m 8| | [ s| |V [z = :
" % & |Be M- gL @ x i) o] | [oxcadze< 2R !
[ NN—4 RALE #7/1:60 2, 42| 206 = - === 10 4
% BABIL- WA S L % (AL 7lel (5 206
| BINvn—y KAILE $180| |A AT EZ U60- 3 E’b\* A e :
- BRI A 143 (;?Et AU - f'E 1 3|0 mtERg o L (BeroAREeE 2
3 P L~ A8 30| [~ [RoLsse J 5 [arkm
P = e 35 =265 70 B e SO LEN L. eV 5
> = 1.5cmAvE 20 ] 15| |2 Bif
~ |AZ 10 J;; 12AI< os| P [z 1ol |F YA o |® - 0.
K ey g~ 8| (o [£E os| 7 [pn= 5| | = 03 |5
D [mrzessevas—rmo~m | |9 |cEE ’ < 20150 2 ﬁma 04 |4\ |B=RNLCGEH) Bk 5
- ; T = L‘g\ ;'L;.LJ/V ; + |HLEM (s ﬁ&"cﬁ 30
N [R—avGEm) 8| [V |HookEdEmyy) 15 [ [EHE 1 é{* 43, il =
v [Cepng 20! |1 e ol U (e s 206| (If |&%L 15
’l‘ B 30| (A |FuHuHA 10| @ %:J;L, LA x ?‘i RE SRR o
5 (ALY 20| | [k sl [ [k B 15(5) A 3’”‘”’ 10 % ROLL56 2.3
7 [ EvAIFATR—RE 15) gy [FLLVEFGSAR) 1 |2 5 ;Zg@ S0 |7 IR 17
wp Ao’-;‘ 5 # rRETFrvT ke 15 (? H#2| 206 © HS43H 40 ® LB 1.1
< |2y 03| |4 [LRpBR—TF 3 A Frrrer 08 1 |
H NS 05| |5 [EAL&LIW 25| |77 [srcsnblBmiz 25| |& ;;iu/\,‘tj 2 o (EIBAZIBE -
z [Lhsez—7 d |7 [Lom o| o [t & [m 05| | KM 25
- |FFravus 0.6 FEL YA 03| |v — st e o2 |E EEAS L
ﬂz Big 05| |IF  |[=me= o1l |2 e T — — 7 =Lt 10| [ [0 5
oloLss 00s| |~ &t 00s| [V [Fe~e M e sz 6

L ” . I Ay 20| | BT 5 A
a B VRE—F Py TARA 1 BwYBaIFE 1 | [E2F0ng » : J :
WREELLE) 30 ) ol |2 [EoLse 2 r— B |6 pTLE .
v B 50 s [em 1 g " iigz S =
’I? () F—X ($381k) 15 Lo L o5 Lom 1 R BT L O'g ;DE
- s ir;o ) 20| (= :%E& 0.5 hHZ 6| |&
i -‘“EEL,;‘@ 5 Y55 0.5 BHAZ 5
| g o = 2: EZFL LA 4
5 rEE 15 x 12
[ _Fi =2
X @i:_}i } (B) F=2248 3

FADA 100




B 1A

318 (H)
ks % BR% —A&Y
RS2
= N e DR TA 50
7 auRiSy 60
~
;\ FE 206
4 |EBE M- 7L (2 20m) 30
2, (A HH-EAEL(2x2em) 20
EH 25
B [Lesrg 20
B Lol 15
D Lozvvan—n 10
7 >
1 VAN 4] 0.3
$ I2AIZK 0.1
Uy 1
+  |hEH 25
YIS 1.5
A 35— 1
; BAESH 4
I FELaUYA 0.3
+ B 0.3
5 |SL&d 003
g |FREALI 20
£91)—L 1
7 |5 20
1)
< |[Jovay— hvk 35
; A 20
1) AS 5
#& | HR—ia—> 5
- |B® 3
YIS 1.2
LB 0.8
BiE 0.4
cL&> 0.03
BTV Feikit 60




